Amount	Discription	Vendor
\$191,038.31	Weight Equipment	Powerlift
\$78,258.99	Gearboss Equipment Racks	Wenger
\$47,293.05	Training Room Equipment	Alert Services
\$24,942.50	Training Room Tables	Alert Services
\$1,590.00	Water Coolers/Ice Chest	Medco
\$2,494.82	Football Equipment	BSN Sports
\$16,144.96	Soocer Goals/Equipment	BSN Sports
\$67,599.00	Track Equipment (pits, hurdles)	Cardinal Sporting Goods
\$3,000.00	Hudl Focus Camera	Hudl
\$16,543.00	Football Sleds	Rogers Athletic Company
\$22,374.00	Football Equipment	Gilman Gear
\$14,968.00	Volleyball Net System	Sterling
\$2,719.32	Volleyball Equipment	BSN Sports
\$22,584.27	Basketball Equipment	BSN Sports
\$511,550.22	Total Cost	
\$587,373.72	Orginal Submission	
\$75,823.50	Cost Savings	
12.91%	will go year thight a come to the opposite the special party government of the control of the co	

POWER LIFT®

Conner Athletic Products, Inc. P.O. Box 348 Jefferson, IA 50129

800-872-1543; Fax: 515-386-3220

www.power-lift.com

Quotation / Order - New Facility-v1

Celina Middle School

Ship To:

Quoted To:

Coach Bill Elliott Celina Athletics 469.742.9120 10180 CR 134 billelliott@celinaisd.com Celina, TX 75009

	les Representative	Date	Prices Good Thru	Terms	Freight
5	Shaun McPherson	11/29/2021	30 Days	Net 10	Best Way
QTY.	ITEM#	DESCRIPTION -Nev	w Facility	UNIT PRICE	NET AMOUNT
		POWER LI			
5	CS2-CPWR-8	8' - 3x3 11ga Combo Rack		\$4,116.00	\$20,580.00
ı	18945A	w/ 8' Uprights w/ Straight Chin bar height se	t to standard 7" height		,,
ı		w/ Organic Orange Uprights	· ·		
1		w/ 4 Adjustable Weight Pegs per side			
1	20233A / WS-7-33	w/ Additional 6.5" Weight Storage Peg (2	per rack)		
1	19726A	w/ 2x Dbl Weight Storage Pegs Add (2 pe	r rack - 10 total)	5	
	12506A	w/ Pro Series Dual Chin Upgrade - Custo	m Celina Decals		
		w/ NO Spotter Platforms			l .
		w/ 2x Band & Chain Storage		1	1.
		w/ 1x Standard Bar Holder			
	18896A	w/ 4x Additional Bar Holders (4 per comb			
l		w/ Custom Rack Side Logos - Orange / White			
1		w/ Platinum frame color / Organic Orange U		1	
	0001177	w/ Organic Orange Chin Bar - Custom Celin	a Logos		
5	CS2-HFR-8	8' - 3x3 11ga Half Rack		\$2,796.00	\$13,980.00
ı	18948A	w/ 8' Uprights w/ Chin bar height set to stand	dard 8' height		
ı		w/ Organic Orange Uprights			
ı		w/ 4 Adjustable Weight Pegs per side			
ſ	20233A / WS-7-33	w/ Additional 6.5" Weight Storage Peg (2		1	
	19726A	w/ 2x Dbl Weight Storage Pegs Add (2 pe			
	12506A	w/ Pro Series Dual Chin Upgrade - Custor	m Celina Decals	1	
		w/ NO Spotter Platforms	Ť	9	
		w/ 2x Band & Chain Storage		1	
	18896A	w/ 1x Standard Bar Holder	40.4.5	4	
	10090A	w/ 2x Additional Bar Holders (2 per HFR -			
		w/ Custom Rack Side Logos - Orange / Whit			
		w/ Platinum frame color / Organic Orange Up w/ Organic Orange Chin Bar - Custom Celina			
3278712802		RACK ATTACHMENTS, CONNECTIN			And in the College of
15	HRA	High Rotation Attachment		\$179.00	\$2,685.00
	52051A	w/ 1" post , fully removable - Slate Grey Writ	nkle	\$175.50	Ψ2,000.00
15	RUP	Rotating Utility Pad (single)		\$199.00	\$2,985.00
	19505A	w/ Mandarin Orange Upholstery		\$199.00	Ψ2,300.00
12	CBCH	Straight Bar Connecting Braces		\$199.00	\$2,388.00
'-	11179B	w/ Slate Grey Wrinkle		\$ 199.00	\$2,300.00
15	CS2-PDBB	Collegiate Series Multi-Angle Dun	nhhell Bench	£800.00	\$12,120,00
``	18499C	w/ Platinum Frame / Mandarin Orange Upho		\$808.00	\$12,120.00
	10.000	w/ Custom Bench Side Logo - Orange / Whit			
	CS2-PDBB-HC	w/ Custom Embossed Headcover - C Logo	· I		1
ATTEN		PULLEYS, POSTERIOR CHA	NN. & STORAGE		
5	WMACC	Wall Mounted Adjustable Cable C	Marine and the second s	\$3,866.00	\$19,330.00
- 3	63300B	w/ Removable T Bar for Seated Low Rows &		\$3,000.00	φ19,550.00
		w/ Single Handle - 200lb (2:1 Weight Ratio)			
		w/ D Rings & Xtrax added for portection		\$99.00	
	XWEIGHT	w/ Additional Weight Added - 200lb (400lb to	tal)	\$318.00	1
1	WSBP	w/ Weight Stack Band Peg	,	\$139.00	1
		w/ Custom Logo on Plate Shroud - C Logo		\$138,00	I
. 9-0		w/ Platinum Frame / Orange Logos			- 1
		4			

G3410E W 42" Lat Pull Bar & Seated Row Handle Attachment WSBP W / Weight Stack Band Peg W / D Rings & Xtrax added for portection W / Custom C Logo on Plate Shroud W / Platinum Frame / Orange / White Logos W / Bandario Orange / Wholstery S44.00 Tricep Rope Attachment \$44.00 S44.00 S4	\$370.00 \$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00 \$477.00
G3410E	\$370.00 \$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
G3410E W 42" Lat Pull Bar & Seated Row Handle Attachment W Weight Stack Band Peg W / D Rings & Xtrax added for portection W / D Rings & Xtrax added for portection W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange / White Logos W / Battinum Frame / Orange Upholstery S24.00	\$370.00 \$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
W/ D Rings & Xtrax added for portection W/ Custom C Logo on Plate Shroud W/ Platinum Frame / Orange / White Logos W/ Mandarin Orange Upholstery	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
W/ Custom C Logo on Plate Shroud W/ Platinum Frame / Orange / White Logos W/ Mandarin Orange Upholstery	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
W Platinum Frame Orange White Logos W Mandarin Orange Upholstery	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
W/ Mandarin Orange Upholstery 10 99691 Tricep Rope Attachment \$37.00 10 99698 Straight Bar Attachment \$44.00 10 99764 Triangle V-Handle - tricep handle \$24.00 2 MDB3-15 3 Tier "15 Pair" Dumbbell Rack \$2,169.00	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
10	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
10 99698 Straight Bar Attachment \$44.00 10 99764 Triangle V-Handle - tricep handle \$24.00 2 MDB3-15 3 Tier "15 Pair" Dumbbell Rack \$2,169.00 \$33037C W/Platinum Grey Frame & Organic Orange Logos \$2,169.00 \$3210A W/2 Tiers DB Saddles / Bottom Tier Flat Tray \$1,899.00 \$3210A W/2 Tiers DB Saddles / Bottom Tier Flat Tray \$1,909.00 \$1,3104A W/12x Glute-Ab Rollers - 12 Pack W/Storage Cart \$1,909.00 \$1,90	\$440.00 \$240.00 \$4,338.00 \$3,798.00 \$3,818.00
10 99764 Triangle V-Handle - tricep handle \$24.00	\$240.00 \$4,338.00 \$3,798.00 \$3,818.00
2	\$4,338.00 \$3,798.00 \$3,818.00
33037C	\$3,798.00 \$3,818.00
2	\$3,818.00
33210A	\$3,818.00
2 GAR-12 Glute-Ab Rollers - 12 Pack w/ Storage Cart 13104A	
13104A	
3 GAR Glute-Ab Roller \$159.00 T1860A Glute-Ab Roller \$159.00 CUSTOM LASER ENGRAVED SIGNAGE - COMPED BAN-SNGL-2 Banner Sign Single Sided - Two Color - Half Racks w/Organic Orange Plate / White Lettering Laser Set-Up Fee - 2 Logos / Racks & Uprights \$0.00 W/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45lb Bravo Olympic Training Bumper \$174.90 W/ Black Color - 6 per station 40 RRBB-25 25lb Bravo Olympic Training Bumper \$125.40 W/ Black Color - 3 per station Combo / 2 per Half	\$477.00
3 GAR 71860A Giute-Ab Roller W/ Orange PL Decals / Grey Wrinkle CUSTOM LASER ENGRAVED SIGNAGE - COMPED 5 BAN-SNGL-2 Banner Sign Single Sided - Two Color - Half Racks W/ Organic Orange Plate / White Lettering Laser Set-Up Fee - 2 Logos / Racks & Uprights W/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45lb Bravo Olympic Training Bumper W/ Black Color - 6 per station 40 RRBB-25 25lb Bravo Olympic Training Bumper W/ Black Color - 3 per station Combo / 2 per Half	\$477.00
71860A w/ Orange PL Decals / Grey Wrinkle CUSTOM LASER ENGRAVED SIGNAGE - COMPED 5 BAN-SNGL-2 Banner Sign Single Sided - Two Color - Half Racks w/ Organic Orange Plate / White Lettering 2 SETUP Laser Set-Up Fee - 2 Logos / Racks & Uprights w/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45lb Bravo Olympic Training Bumper w/ Black Color - 6 per station 40 RRBB-25 25lb Bravo Olympic Training Bumper w/ Black Color - 3 per station Combo / 2 per Half	\$477.00
SETUP SETUP SETUP SETUP RRBB-45 RRBB-25 SUBSTANCE Sign Single Sided - Two Color - Half Racks w/Organic Orange Plate / White Lettering Laser Set-Up Fee - 2 Logos / Racks & Uprights w/Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty)	
5 BAN-SNGL-2 Banner Sign Single Sided - Two Color - Half Racks w/ Organic Orange Plate / White Lettering Laser Set-Up Fee - 2 Logos / Racks & Uprights w/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45 Bravo Olympic Training Bumper w/ Black Color - 6 per station 40 RRBB-25 25 Bravo Olympic Training Bumper w/ Black Color - 3 per station Combo / 2 per Half	
2 SETUP W/ Organic Orange Plate / White Lettering Laser Set-Up Fee - 2 Logos / Racks & Uprights W/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 45ib Bravo Olympic Training Bumper W/ Black Color - 6 per station 40 RRBB-25 25ib Bravo Olympic Training Bumper W/ Black Color - 3 per station Combo / 2 per Half	00.00
2 SETUP Laser Set-Up Fee - 2 Logos / Racks & Uprights W/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45 45 Bravo Olympic Training Bumper W/ Black Color - 6 per station 40 RRBB-25 25 Bravo Olympic Training Bumper W/ Black Color - 3 per station Combo / 2 per Half	\$0.00
W/ Laser set-up for banner & uprights INTEK STRENGTH - Custom (3 year Warranty) 90 RRBB-45 45lb Bravo Olympic Training Bumper \$174.90 \$7 W/ Black Color - 6 per station 40 RRBB-25 25lb Bravo Olympic Training Bumper \$125.40 \$9 W/ Black Color - 3 per station Combo / 2 per Half	40.00
90 RRBB-45 45lb Bravo Olympic Training Bumper \$174.90 \$7 40 RRBB-25 25lb Bravo Olympic Training Bumper \$125.40 \$9 W/ Black Color - 6 per station \$125.40	\$0.00
90 RRBB-45 45ib Bravo Olympic Training Bumper \$174.90 \$7 W/ Black Color - 6 per station 40 RRBB-25 25ib Bravo Olympic Training Bumper \$125.40 W/ Black Color - 3 per station Combo / 2 per Half	
w/ Black Color - 6 per station 40 RRBB-25 25lb Bravo Olympic Training Bumper \$125.40 w/ Black Color - 3 per station Combo / 2 per Half	
40 RRBB-25 25lb Bravo Olympic Training Bumper \$125.40 \$ w/ Black Color - 3 per station Combo / 2 per Half	15,741.00
w/ Black Color - 3 per station Combo / 2 per Half	
	\$5,016.00
E OO E POONTAO TAONAA OO EE OO EE OO EE OO EE	- 1
	3,069.00
w/ Black Color - 2 per station	
50 ITUTT-010 10lb Armor Urethane Olympic Plate \$38.72	1,936.00
w/3 per station Combo / 4 per station Half Rack	
30 ITUTT-005 51b Armor Urethane Olympic Plate \$19.36	\$580.80
w/2 per station	
30 ITUTT-002.5 2.5lb Armor Urethane Olympic Plate \$10.89	\$326.70
w/ 2 per station	
BRAVO URETHANE DUMBBELLS - 4 YEAR WARRANTY	SECTION TO
A BBB(BBB 448 B 0.444 0.	14,334.56
	1,067.72
2 DBSUBPR-060 Solid Urethane Dumbbell Pair - 60lb \$548.76	1,097.52
2 DBSUBPR-065 Solid Urethane Dumbbell Pair - 65lb \$562.76 \$	1,125.52
2 DBSUBPR-070 Solid Urethane Dumbbell Pair - 70lb \$574.86 \$	1,149.72
	1,170.22
BARS & LOGO FEES - 4 YEAR WARRANTY	
	3,900.00
las la meres latinitation en la little la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation en latinitation en la latinitation e	5,235.00
46 0000 100 0100 0100 0100 0100 0100 010	7,935.00
1 CLSE Custom Logo SetUp Fee \$350.00	\$350.00
30 CUSBARLOGO Custom Urethane Barbell Endcap Logo (per logo) \$25.00	\$750.00
DC BLOCKS	₩7.00.00
	0.000
\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	6,000.00
862952000473 16" Stacks / Station (8 blocks per station)	
DYNAMAX MEDICINE BALLS (stored on trays)	SETTING.
15 8LB-STANDARD 8lb Standard Medicine Ball w/ Logo - Orange / Grey \$105.00 \$	1,575.00
w/ C Logo	
15 16LB-STANDARD 16lb Standard Medicine Ball w/ Logo - Solld Orange \$122.00 \$.1,0,0,00
w/ C Logo	31,830.00
30 CUSTLOGO Custom Celina Logo \$0.00	

		Celina Middle School (con't)		
		PERFORM BETTER		
1	1001-99	Bosu Bali Studio Package	\$1,069.00	\$1,069.00
l . I		w/ 6 Bosu Balls & Storage Rack	1 1	
1	1001-26	Bosu Ball Rack Only	\$294.95	\$294.95
7	1001-Pro	Bosu Ball Pro	6484.05	\$1,294.65
	1001-110	Dosu Dali Fio	\$184.95	ψ1,2 94 .05
		NORTHWEST FITNESS		
30	MONSTERMINI1/2-RED	Monster Mini Jump Stretch Flex Band - 1/2" Red	\$12.50	\$375.00
30	MONSTERMINI1/2-BLK	Monster Mini Jump Stretch Flex Band - 1/2" Black	\$16.50	\$495.00
30	FLEX1-PURPLE	Jump Stretch Flex Band - 1" Purple	\$18.00	\$540.00
30	FLEX1.75-GREEN	Jump Stretch Flex Band - 1.75" Green	\$22.00	\$660.00
		AVUS DESIGNS		
30	LM-MG	Aluminum Collars - Grey	\$42.95	\$1,288.50
45	INDET	IRON NECK	es.	
15	INVT	Iron Neck Bundle - Varsity Team Edition w/ 3x Pads / 25lb Bands / Cinch Anchor / 2x Skull Caps / Bag	\$399.00	\$5,985.00
3633397.6	B A COM COMMENT NOT WE THINK THE	FREIGHT	Land Action of the Control of the Co	
1	FRT	Power Lift Freight & Install	\$16,982.00	\$16,982.00
		Power Lift Insured Professionals Transit, Delivery & Installation	\$10,002.00	Ψ10,002.00
I		Coordination of all 3rd party products arrival		
I		Debris removal upon request & equipment clean-up pnor to departure		
I		Certified CSCS Sales Rep on site for set-up, instruction, & safe using Personalized service after the sale for the lifetime of the equipment	1	1
l 1	FRT	Intek Strength Freight - Liftgate Included	\$1,688.00	\$1,688.00
1	FRT	DC Blocks - Liftgate Included	\$504.00	\$504.00
1 1	FRT	Dynamax Medicine Balls - Liftgate Included	\$361.18	\$361.18
1	FRT	Perform Better Shipping	\$365.00	\$365.00
1	FRT	Northwest Fitness Shipping - via USPS	\$52.12	\$52.12
1	FRT	Avus Designs Shipping - via UPS	\$43.15	\$43.15
1	FRT	Iron Neck Shipping - via UPS	\$0.00	\$0.00
1/02/14/2005	D100	DISCOUNTS	United the same	· 中国共享的
1	DISC	Less Package Discount	-\$23,0	083.00
		this order the following is needed:		
	Signed	Quotation or Purchase Order	Subtotal:	\$214,121.31
l	ScI	hool Tax Exempt Number	DISCOUNT	-\$23,083.00
a teste o	Balance Due	Net 10 Days From Shipping Date		
		100000	Sales Tax:	1
	IDDENTIC	AD TIMES ADE 40 40 MISSIO	-	22 320
6	UKKENI LEA	AD TIMES ARE 10-12 WEEKS	Deposit:	
l	FROI	M DATE OF ORDER		
l			1	
l .		NGTH LEAD TIME IS 16-18 WEEKS***	Grand Total: _	\$191,038.31
	""COVID DELAYS	POSSIBLE on 3rd PARTY PRODUCTS***	0.00	
Cicaci			Dete	
Signatur	e		Date	
Title			Purchase Order No	ımher
			. uronase Oluci IVI	andidel
I				
			Tax Exempt Numb	er
				-



Phone: 507-455-4100 Fax:

507-455-4258

Quote Number: 3236092

Gearboss Storage for 2 Rooms (Buyboard,

Wenger installation)

QUOTE

Date:

01/12/2022

Page: Cust #:

1 of 4 70045272

Quote To:

Kyle Sheridan

Celina Middle School #1

3393 N Louisiana Dr

Celina TX 75009-2190

United States

Date:

1/12/2022

Expires:

3/31/2022

Reference:

Terms:

Net 30 Days

Created By:

Mary Steidler

Phone:

(469) 742-9102

Fax:

E-Mail:

kylesheridan@celinaisd.com

Salesperson:

Mary Steidler

Phone:

+1 (507) 774-8395

E-Mail:

mary.steidler@wengercorp.com

Quote Comments:

Gearboss Carts & Shelving for Boys & Girls Storage Rooms E110 Boys Storage E108 Girls Storage

USD

Line	PartNum/Description	Qty	Net Price	Ext. Price
Boys				
	240200013 48" X-Cart (48X03)	2 EA	\$4,009.00	\$8,018.00
	Includes: - End Grille Color: Undefined - (2) Truss bars - (14) Helmet Hangers	Color: Undefined ars t Hangers 3 EA \$3,620.15 \$ art,CS Color: Undefined		
2.00	240200605 32" Team Cart,CS	3 EA	\$3,620.15	\$10,860.45
	Includes: - End Grille Color: Undefined - (4) Shoulder Pad Stackers			
3.00	240200578 48" X-Cart,CS	1 EA	\$2,844.95	\$2,844.95
	Includes: - End Grille Color: Undefined - (1) Soft Cart Divider - (4) Garment bars	ž.		

^{***}Wenger is an approved vendor for Athletic Equipment through BuyBoard. Items on this quote are available on Buyboard Bid # 583-19. This contract is in effect through 3/31/22.***



Phone: 507-455-4100 Fax:

507-455-4258

CORPORATION

Quote Number: 3236092

Gearboss Storage for 2 Rooms (Buyboard,

Wenger installation)

QUOTE

Date: 01/12/2022 Page: 2 of 4

Cust #: 70045272

weilige	i ilistaliation)			
4.00	240200017 32" Team Cart (32T08)	1 EA	\$3,054.90	\$3,054.90
	Includes: - End Grille Color: Undefined - (2) Shelves - (1) Garment bar			
5.00	240200079 48" X-Cart (48X02)	1 EA	\$3,294.00	\$3,294.00
	Includes: - End Grille Color: Undefined - (4) Shelves - (2) Garment bars			
6.00	241C025.100 GearBoss Shelving Starter Bay 48.0"W,96"H	1 EA	\$252.00	\$252.00
7.00	241C026.100 GearBoss Shelving Add-on Bay 48.0"W,96"H	7 EA	\$182.00	\$1,274.00
8.00	241C020.100 GearBoss Shelving Shelf 48.0" X 17.5"	32 EA	\$99.00	\$3,168.00
9.00	241B030.101 GearBoss Shelving Worksurface 48"X17.5"	32 EA	\$92.00	\$2,944.00
10.00	240A043 GearBoss Cart Accessories Floor Track Assembly	5 EA	\$86.00	\$430.00
11.00	240A062.1 GearBoss Cart Accessories Island Stop Assembly	1 EA	\$272.00	\$272.00
12.00	241A005.1 GearBoss Cart Accessories Track Lock Standard	1 EA	\$119.00	\$119.00
13.00	240A041.0 GearBoss Cart Accessories Bypass Doors Undefined Co	1 EA lor	\$553.00	\$553.00
	Set of doors on the "end" cart to lock down all carts as a by Celina ISD)	group with one	padlock (padlock to	be supplied
Girls				
29.00	240200514 32" Team Cart (32T08)	5 EA	\$3,054.73	\$15,273.65
	Includes: - End Grille Color: Undefined - (2) Shelves - (1) Garment bar			
30.00	240A043	3 EA	\$86.00	\$258.00

GearBoss Cart Accessories Floor Track Assembly



QUOTE

Phone:

507-455-4100

Fax:

507-455-4258

Date:

01/12/2022

Page: Cust #: 3 of 4 70045272

Quote Number: 3236092

Gearboss Storage for 2 Rooms (Buyboard,

Wenger installation)

Tronge		_		
31.00	240A041.0 GearBoss Cart Accessories Bypass Doors Undefined	1 EA Color	\$553.00	\$553.00
	Set of doors on the "end" cart to lock down all carts as by Celina ISD)	a group with one p	adlock (padlock to	be supplied
32.00	241C025.100 GearBoss Shelving Starter Bay 48.0"W,96"H	1 EA	\$252.00	\$252.00
33.00	241C026.100 GearBoss Shelving Add-on Bay 48.0"W,96"H	7 EA	\$182.00	\$1,274.00
34.00	241C019.100 GearBoss Shelving Shelf 48.0" X 30.5"	16 EA	\$99.00	\$1,584.00
35.00	241B030.100 GearBoss Shelving Worksurface 48"X30.5"	16 EA	\$92.00	\$1,472.00
36.00	241C020.100 GearBoss Shelving Shelf 48.0" X 17.5"	16 EA	\$86.00	\$1,376.00
37.00	241B030.101 GearBoss Shelving Worksurface 48"X17.5"	16 EA	\$92.00	\$1,472.00
37.50	240A043 GearBoss Cart Accessories Floor Track Assembly	3 EA	\$108.00	\$324.00
38.00	241A005.1 GearBoss Cart Accessories Track Lock Standard	1 EA	\$119.00	\$119.00
39.00	240A062.1 GearBoss Cart Accessories Island Stop Assembly	1 EA	\$272.00	\$272.00

Installation Services

DELIVERY & INSTALLATION BY WENGER: This pricing includes complete delivery and installation, which includes unloading, assembling and removal of debris by Wenger-trained technicians, at non-prevailing, non-union wage rates, to 1st floor locations. 2nd floor or greater will incur additional fees. Check with your representative for further details.

***At the time of order, please provide COVID protocol requirements and any campus safety/security requirements and directions for compliance.**

Wenger Freight

41.00 Install

40.00 Freight Freight Services

Wenger Assembly/Installation

1 EA

1 EA

\$5,252.62

\$11,692.42

\$5,252.62

\$11,692.42



Phone: 507-455-4100

Fax: 507-455-4258

Quote Number: 3236092

Gearboss Storage for 2 Rooms (Buyboard,

Wenger installation)

QUOTE

Date:

01/12/2022

Page: Cust #: 4 of 4 70045272

Lines Total

\$78,258.99

Total Taxes

\$0.00

Quote Total

\$78,258.99











Page: 1

Sales Quote Number:

53026

Sales Quote Date:

1/6/2022

Expiration Date:

4/10/2022

Sell

To: **CELINA ISD**

ATTN: CINDY SHARROCK 205 S COLORADO Celina, TX 75009

Ship

To: **CELINA HIGH SCHOOL**

KYLE SHERIDAN ATHLETICS COMPLEX 3455 N PRESTON RD Celina, TX 75009

U\$A

Tax Ident. Type Legal Entity **Customer ID** SalesPerson

1185 026

Ship Via

Item No.	Description	Unit	Quantity	Unit Price	Total Price
309090	AQUA CHILLER 6 HOSE	Each	4	1,395.00	5,580.00
309060	OHASIS 8 HOSE DUAL MAN 31 GAL STATION	Each	2	1,495.00	2,990.00
XOHS124005	ALUMINUM PAN FOR DUAL STATION	Each	2	328.95	657.90
24221910	THERABAND WALL STATION	Each	1	950.00	950.00
558110012	GLOVE RACK WALL MOUNT	Each	2	11.50	23.00
12951661	COVERLET DISPENSER STOCKED	Each	2	186.50	373.00
1252802	HYDROCOLLATOR E-2 6 PK	Each	1	725.00	725.00
5650006	DRYING RACK STAINLESS 6 HOOK	Each	3	70.50	211.50
1251118	TERRY COVER STANDARD GRAY	Each	10	23.00	230.00
38080002	THERM-X-MACHINE AT VERSION	Each	3	4,547.00	13,641.00
38080102	THERM-X KNEE GARMENT	Each	3	345.00	1,035.00
38080104	THERM-X ANKLE GARMENT	Each	3	360.00	1,080.00
38080101	THERM-X SHOULDER GARMENT	Each	3	400.00	1,200.00
8465193	THERAGUN ELITE	Each	4	399.95	1,599.80
1005222	CANDO BANDS 50 YD RED	£ach	1	58.95	58.95
1005223	CANDO BANDS 50 YD GREEN	Each	1	63.95	63.95
1005224	CANDO BANDS 50 YD BLUE	Each	1	68.95	68.95
1005225	CANDO BANDS 50 YD BLACK	Each	1	72.95	72.95
807520	INCLINE BOARD ADJ. #7520	Each	1	146.50	146.50
309831	AQUA PORTable w/FRONT CASTERS	Each	8	400.00	3,200.00



Page: 2

Sales Quote Number:

53026

Sales Quote Date:

1/6/2022

Expiration Date:

4/10/2022

Sell

To:

CELINA ISD ATTN: CINDY SHARROCK 205 S COLORADO Celina, TX 75009 Ship

To: CELINA HIGH SCHOOL

KYLE SHERIDAN ATHLETICS COMPLEX 3455 N PRESTON RD Celina, TX 75009

USA

Tax Ident. Type Legal Entity

Customer ID SalesPerson 1185 026

Ship Via

Item No.	Description	Unit	Quantity	Unit Price	Total Price
373000	ICE SCOOP ALUMINUM 85 OZ	Each	6	17.50	105.00
24733000	EVAC-U-SPLINT EXTREMITY 3 PC	Each	1	650.00	650.00
S69002040	RADIO RM UHF 2W 4CH	Each	20	216.00	4,320.00
S69004100	RADIO RDX UHF 4W 10CH	Each	3	286.00	858.00
S69004477	RADIO EARPIECE SURVEILLANCE	Each	20	23.50	470.00
S69006384	RADIO RM MULTI UNIT CHARGER	Each	3	269.00	807.00
D180800	WEIGHT CUFF SET 18 PIECE	Each	1	228.00	228.00
SHIPPING &	Shipping & Handling	Each	1	75.00	75.00
HANDLING					
D180302	DUMBBELL VINYL COATED 20 SET	Each	1	269.75	269.75
SHIPPING &	Shipping & Handling	Each	1	75.00	75.00
HANDLING					
D323005	MARC PRO STIM	Each	6	783.00	4,698.00
SHIPPING &	Shipping & Handling	Each	1	50.00	50.00
HANDLING					
N001	RASLEEVE-PS-PKG-US RECOVERY AIR ARM	Each	4	189.95	759.80
	SLEEVE				
SHIPPING &	Shipping & Handling	Each	1	20.00	20.00
HANDLING	· · · · ·				

Amount Subject to Sales Tax 0
Amount Exempt from Sales Tax 47,293.05

 Subtotal:
 47293.05

 Invoice Discount:
 0.00

 Total Sales Tax:
 0.00

Total:

47,293.05



Page: 1

Sales Quote Number:

53420

Sales Quote Date:

1/24/2022

Expiration Date:

2/24/2022

Sell

To: CELINA ISD

ATTN: CINDY SHARROCK 205 S COLORADO Celina, TX 75009 Ship To:

To: CELINA HIGH SCHOOL KYLE SHERIDAN ATHLETICS COMPLEX

3455 N PRESTON RD Celina, TX 75009

USA

Tax Ident. Type Legal Entity

Customer ID

1185 026

SalesPerson

Ship Via

Item No.	Description	Unit	Quantity	Unit Price	Total Price
N075	A4327-2772 ALUMA ELITE BASIC TREATMENT TABLE 27"W x 72"L FRAME: GREY, ACCENT: FOG GREY, VINYL: MANDARIAN ORANGE	Each	2	945.00	1,890.00
D55194201	ALUMA ELITE TABLE W/SHELF & GRAPHICS	Each	2	1,730.00	3,460.00
N076	A4725 ENCLOSED CABINET W/ SLIDING DOOR ON BOTH SID FRAME: ORANGE, ACCENT WHITE, VINYL: DOVE	Each	2	559.00	1,118.00
N077	MRS-CP MEDICAL ROLLING STOOL W/ COLOR EDGE PRINT LOGO - VINYL: DOLPHIN	Each	6	275.00	1,650.00
D55194279	ALUMA ELITE 2 SEAT TAPING STATION 36" H & GRAPHICS FRAME: LIGHT GREY, ACCENT: CHARCOAL, VINYL: MANDARIN ORANGE, TOP: NORTH SEA GREY	Each	1	2,877.50	2,877.50
D55194159	ALUMA ELITE WHIRLPOOL TABLE SINGLE 31"H & GRAPHICS	Each	2	2,025.00	4,050.00



Page: 2

Sales Quote Number:

53420

Sales Quote Date:

1/24/2022

Expiration Date:

2/24/2022

Sell

To: CELINA ISD

ATTN: CINDY SHARROCK 205 S COLORADO Celina, TX 75009 Ship

To: CELINA HIGH SCHOOL

KYLE SHERIDAN
ATHLETICS COMPLEX
3455 N PRESTON RD
Celina, TX 75009

USA

Tax Ident. Type Legal Entity

Customer ID

1185 026

SalesPerson

Ship Via

Item No.	Description	Unit	Quantity	Unit Price	Total Price
	FRAME: LIGHT GREY, ACCENT: CHARCOAL,				
	TOP:				
	NORTH SEA GREY				
N078	AESC-008D ALUMA ELITE STATIONARY	Each	1	2,807.50	2,807.50
	CABINET W/ 4 BAND				
	DISPENSERS, SLATWALL & GRAPHICS PKG				
	FRAME: WHITE, ACCENT: ORANGE				
D55194203	ALUMA ELITE CART 1 DRWR/2 DR	Each	1	1,335.00	1,335.00
	W/GRAPHICS				
	FRAME: LIGHT GREY, ACCENT: CHARCOAL				
N079	A4204 ALUMA ELITE MODALITY CART W/ (4)	Each	1	1,647.50	1,647.50
	DRAWERS &				
	GRAPHICS PKG FRAME: WHITE, ACCENT				
	ORANGE				
SHIPPING &	Shipping & Handling	Each	1	4,107.00	4,107.00
HANDLING					
	DOCK TO DOCK				
	CONTACT: KYLE SHERIDAN				
	C: 972-948-3089				

Amount Subject to Sales Tax 0
Amount Exempt from Sales Tax 24,942.50

Subtotal: Invoice Discount: **24942.5** 0.00

Total Sales Tax:

0.00

Total:

24,942.50





Masune surgical supplyservice

Performance Health Supply, Inc. d/b/a Medco Supply Company 25 Northpointe Parkway, Suite 25 Amherst, NY 14228

Ship To

KYLE SHERIDAN -Athletic Training CELINA ISD ATHLETIC DEPT 200047512:3 3455 N Preston Rd Celina, TX 75009-3896 US

Bill To

Celina ISD 200047512 205 S Colorado St Celina, TX 75009-6441 US

Total:

\$1,590.00

Customer Nur	nber Expir	res	Sales Rep	Sales Rep Email	Quote Prepared I	Ву	Orde	r Source
200047512:3	6/12/2	2022	TINA M RAINEY	Tina.Rainey@medcosupply.com	Tina,Rainey@med	dcosupply com	E	Email
Line#	Alternate Nun	nber	ltem		Rate	UOM	Quantity	Amount
1			700570 4 GATORAI	4 DE SIDELINES 2022 PERFORM PKG	\$265.00	EA	6	\$1,590.00
						Subto Shipping Co		\$1,590,00 \$0.00
						Handling Co		\$0.00
						Tax To	tal	\$0.00
						To	tal	\$1,590.00

Quote

Customer RFP#:

3/14/2022

Estimate #: ESTMD3059647

Quote Notes:

Web Site: https://www.medco-athletics.com Customer Service #: 800-556-3326 Email: MedcoCustomerSupport@MedcoSupply.com



PO Box 841393 Dallas, TX 75284-1393 one: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com

ntact Your Rep

in Harrison Email:jharrison@bensports.com | Phone:214-714-3519 x3519

Id to 24951 LINA HIGH SCHOOL 55 N Preston Rd LINA TX 75009-3896 Ship To 1603458 CELINA Athletic Complex Bill Elliott FIELD HOUSE 3455 N. Preston Road BLDG B CELINA TX 75009-6292 Quote

Cart #: 8207587

Purchase Order #: new MS FB equip

Cart Name: Celina New MS FB Supplies

Quote Date: 02/14/2022 Quote Valid-to: 03/31/2022 Payment Terms: NT30 Ship Via: FedEx Ground

Ordered By: Cindy Sharrock

Payer 1087746 CELINA ISD ACCOUNTS PAYABLE 205 S COLORADO ST CELINA TX 75009-6441

OEE/17/ 17 13003-0232			
1 Description	Qty	 Unit Price	Total
GH STEP AGILITY TRAINER n # - 1201987	2 EA	\$ 249.99	\$ 499.98
XED RUNG AGILITY LADDER 11 # - 1271560	4 EA	\$ 39.99	\$ 159.96
dded Flip Indicator & JV Chain Set-Org n # - 1376988	1 SET	\$ 349.99	\$ 349,99
EIGHTED END ZONE PYLON n # - MSWPYLON	3 SET	\$ 39.99	\$ 119,97
ness Ropes - 1.5" 40' Black n # - 1369621	8 EA	\$ 159.99	\$ 1,279,92
	Subtotal:		\$ \$2,409.82
	Other:		\$0.00
	Freight:		\$85.00
	Sales Tax:		\$0.00
	Order Total:		\$ \$2,494.82
	Payment/Credit Applied:		\$0.00
	Order Total:		\$ 2,494.82



PO Box 841393 Dallas, TX 75284-1393 Phone: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com

Contact Your Rep

ohn Harrison Ernall:jharrison@bsnsports.com | Phone:214-714-3519 x3519

iold to 1924951 ELINA HIGH SCHOOL 1455 N Preston Rd ELINA TX 75009-3896 JSA Ship To
1603458
CELINA Athletic Complex
Cody Moles
FIELD HOUSE
3455 N. Preston Road BLDG B
CELINA TX 75009-6292

Quote

Cart #: 8323164 Purchase Order #: Soccer Equip

Cart Name: Celina Soccer Facilities

Quote Date: 03/12/2022 Quote Valid-to: 03/31/2022 Payment Terms: NT30 Ship Via: ABF Ordered By: Cody Moles

Payer 1087746 CELINA ISD ACCOUNTS PAYABLE 205 S COLORADO ST CELINA TX 75009-6441

OLLINA IX 75005-025	7 <u>2</u>				
am Description	Qty		Unit Price		Total
European Match Goal 8 x 24 tem # - 1291162	1 PR	\$	7,199.99	\$	7,199.99
VXT Training Goal All Surface (8' x 24') tem # - 1398279	2 EA	\$	1,299.99	\$	2,599.98
#10B3402 - TAMPER RESISTANT NET CLIPS tem # - NSPHG	1 EA	\$	99.99	\$	99.99
f6B1404 - Premier Corner Flags tem # - NSPHG	1 EA	\$	245.00	\$	245.00
#160-1300 - Kwik Goal Strike Attack tem # - NSPHG	1 EA	\$	3,600.00	\$	3,600.00
	Subtotal:			\$	13,744.96
	Other:				\$0.00
	Freight:				\$2,400.00
	Sales Tax:				\$0.00
	Order Total:			\$	16,144.96
	Payment/Credit Applied	1:			\$0.00
	Order Total:			\$1	16,144.96

Cardinals Sporting Goods

6524 Slide Road

Lubbock, Texas 70424

2/8/2022

CELINA HIGH SCHOOL

New JH Track Equipment Quote Spring 2022

Attn: Bill Elliott/Kyle Sheridan

Email: billelliott@celinaisd.com

kylesheridan@celinaisd.com

Buy Board #583-19

1 Each Gill #VP65417CO509 PV Pit Value Pack

\$26,240.00 Each

019679009

Color: Orange Vinyl/Grey Top Pad

Includes PV Standards/Cross Bar/Weather Cover

1 Each Gill #526 PV Collegiate Cross Bar

\$78.00 Each

941999

[At WSG Location]

2 Each Gill #528 PV Elastic Cross Bands

\$22.75 Each

917109

1 Each Gill #VP64217CO509 HJ Pit Value Pack

\$11,052.00 Each

98289009

Color: Orange Vinyl/Grey Top Pad

Includes HJ Standards/Cross Bar/Weather Cover

1 Each Gill #525 HJ Collegiate Cross Bar

\$78.00 Each

041999

[At WSG Location]

2 Each Gill #528 HJ Elastic Cross Bands

\$22.75 Each

917109

Cardinals Sporting Goods

6524 Slide Road

Lubbock, Texas 70424

2/8/2022

CELINA HIGH SCHOOL

New JH Track Equipment Quote Spring 2022

Attn: Bill Elliott/Kyle Sheridan

Email: billelliott@celinaisd.com

kylesheridan@celinaisd.com

Buy Board #583-19

80 Ea	ch Gill #402CO5SP [S4 Hurdles]	\$199.00 Each
9151209	Color: Orange Gate Risers	
	Lettered: TBD [Color: Orange]	
10 Ea	ch Gill #4010 Hurdle Carts	\$588.00 Each
9441009	**Holds 8-10 Hurdles**	
1 Eacl	n Gill #923 Essentials Starting Block Cart	\$353.00 Each
9264609		
8 Eacl	n Gill #412C12 S2 Starting Blocks	\$125.00 Each
993609	Color: Black	
4 Each	n Gill #730270 Officials Flags	\$13.50 Each
99909	Color: Red/White	
4 Each	n Gill #451 Pit Rakes	\$80.50 Each
960309		
3 Each	Frazier #OR100 100' Open Reel Tape Measures	\$16.00 Each
99369		

Cardinals Sporting Goods

6524 Slide Road

Lubbock, Texas 70424

2/8/2022

CELINA HIGH SCHOOL

New JH Track Equipment Quote Spring 2022

Attn: Bill Elliott/Kyle Sheridan

Email: billelliott@celinaisd.com

kylesheridan@celinaisd.com

Buy Board #583-19

2 Each Frazier #OR165	165'	Open Reel Tape Measure	\$26.00 Each
-----------------------	------	------------------------	--------------

915759

1 Each Frazier #OR200 200' Open Reel Tape Measure \$32.00 Each

920509

2 Each Gill #730147VL Vinyl LI/TJ Sand Pit Covers \$2,022.00

91516509 Sizes: 11'9" X 31'6"

Sub-Total \$65,244.00

Shipping \$ 2,355.00

TOTAL \$67,599.00

Thank You Very Much!!

Jim Davis



Remit Payment to: Hudl 29775 Network Place Chicago, IL 60673 P: 402-817-0060 F: 866-851-7148 All other mait Hudl 600 P Street, Suite 400 Lincotn, NE 68508 P: 402-817-0060 F: 866-851-7148 Quote

SUBJECT TO CHANGE - DO NOT PAY UNTIL YOU RECEIVE INVOICE

Date: 2/9/22 Effective: 30 Days

To:	Celina ISD
	Celina TX

Subscription	Team	Description	Quantity	Unit Price	Row Total
Hudl Focus Outdoor		Auto Capture Camera	1	\$4,000.00	\$4,000.00
Discount	\$1-10 (1.00		1		-\$1,000.00
			State Tax	0.00%	\$0.00
		5		Total	\$3,000.00

If paying by check, please use our new mailing address: 29775 Network Place, Chicago, IL 60673-1775 USA

nvoice Comments:

Paying with credit card? Go to hudlcom/pay

Agile Sports Technologies, Inc. dba Hudl. EIN is 26-0568054, Log in to your Hudl account to find a copy of our W-9 on the Billing & Orders page.

Pricing may be subject to change if proration occurs or applicable taxes need to be assessed.

Dominate.

600 P Street, Suite 409 | Hintolin, NE | 63503 P 402-817-0060 | F: 866-851-7148 | billing@-budl.com



3760 W. Ludington Dr Farwell, MI 48622 PHONE: 800-248-0270 FAX: 888-549-9659 www.rogersathletic.com

QUOTE FORM for Celina High School Quote: SQ-220208-0049249 Offer Valid Through: 5/31/2022 Proposed by: Gary McMurry

Quote Form

Quote Reference Number: 0049249

Address Information

Bill To: Celina High School 3455 N Preston Rd Celina, Texas 75009 United States

Contact Buying: Bill Elliott Phone: (469) 742-9120 Email: billelliott@celinaisd.com Ship To: Celina High School 3455 N Preston Rd Celina, Texas 75009 United States

Contact Shipping: Bill Elliott

Terms and Conditions

Payment Method: Check Payment Terms: Net 30 Days Delivery Terms: FOB Source Billing Method: Email

Celina High School - For Celina New Middle School

Product Lines

Product	Product Code	Quantity	Sales Price	Amount
3 Man MOD Sled W/ Big Bruiser Pads (Orange)	411303	1.0 Each	\$3,345.00	\$3,345.00
7 Man MOD Sled W/ Big Bruiser Pads (Orange)	411307	1.0 Each	\$7,566.00	\$7,566.00
Varsity Pop-Up Tackle Maker Sled W/ Orange Pad	410454	1.0 Each	\$1,500.00	\$1,500.00
JV Pop Up Tackle Maker W/ Orange Pad	410455	2.0 Each	\$1,262.00	\$2,524.00

Additional Charges/Credits

Additional Charge/Credit	Description	Quantity	Sales Price	Amount
Shipping	Shipping	1.0	\$1,608.00	\$1,608.00

Products Total: \$14,935.00

Additional Charges/Credits Total: \$1,608.00

Net Amount: \$16,543.00

Specific Terms

Assembly required on Sleds/Chutes
Quoted price does not include any State and/or Local Taxes unless specified in the quotation
Lead time is estimated and varies based on manufacturing capacity. Actual ship date will be determined at placement of order
Shipping rates are subject to change
Freight Terms: FOB Clare - MI
Rogers Athletic collects tax in the following states: AL CA CO FL GA IL IN MI NJ PA TX WA
A Tax Exemption Certificate must be provided at time of order placement or sales tax will be added to the order
These can be forwarded to the following email address: taxexemptions@rogersgrp.com
All Labor and costs associated with docking, unloading, transferring or set up of the equipment and removal of debris are not included unless specified in the quotation
Visa - Mastercard - American Express and Discover Accepted
Please provide tax exempt document upon request.

Thank you for this outstanding opportunity!

All rights reserved. Copyright Roger's Group, Inc.

Date

Order Authorization



30 GILMAN RD • P.O. BOX 97 GILMAN, CONNECTICUT 06336 (800) 243-0398 • (860) 889-7334 FAX (860) 823-1859

SALES REP:	
Kevin Golden Email: k.golden@gilmangear.com	Quote
CUST. CONTACT: Bill Elliott	
EMAIL: billetliott@celinaisd.com	
POSITION: Head Coach/AD	NOTES: #1
PHONE: 214-354-8497	# 1

DATE: 02/07/2022

S	Celina HS	S	Same
L ()	3455 N Preston Rd	1	
D	Celina, TX 75009	P	
Т		\mathbf{r}	
()		\odot	

FAX:

To proceed with this order, please fax this document to the above number, along with a purchase order or a copy of a check from your school or booster club. This check must be mailed to the above address. Your order will not begin to be processed until your purchase order or actual check has been received. For more information, please contact Gilman Gear's Accounts Receivable department at (800) 243-0398 ext. 1967 or at accounts receivable gilmangear.com.

#	QTY	ITEM CODE	ITEM DESCRIPTION / COLOR	UNIT	EXTENDED COST
1	8	KING1	King Crab Sled/ Orange	\$ 410.00	\$ 3,280.00
2	8	STEP1	Step in Harness	\$ 68.00	\$ 544.00
3	1	CDROP	Drop in Combo	\$ 1,250.0	\$ 1,250.00
4	1	SUP1	Super Chute	\$ 2,375.0	\$ 2,375.00
5	6	B96	Long Boards/ Orange	\$ 200.00	\$ 1,200.00
6	8	FBD	Fullback/ Custom Orange	\$ 195.00	\$ 1,560.00
7	8	IBD	I Back/ Custom Orange	\$ 160.00	\$ 1,280.00
8	3	PB20	Popback/ Custom Orange	\$ 565.00	\$ 1,695.00
9	3	CB20	Comeback/ Custom Orange	\$ 615.00	\$ 1,845.00
10	1	200GS-16	Gauntlet w/16 arms no pads/ Orange	\$ 3,350.0	\$ 3,350.00
11	6	FB650	Flipback/ Custom Orange	\$ 115.00	\$ 690.00
12	6	BODS	Bod Shields/ Custom Orange	\$ 205.00	\$ 1,230.00
13					\$ 0.00
14					\$ 0.00

Card Type	Visa
Cardholder Name	
Card #	
Billing Address	
Exp. Date	
Security Code	

Subtotal	\$ 20,299.00
Sales Tax (CA, CT, WA Only)	
Estimated Shipping Quoted By: AA/ Old Dominian	\$ 2,075.00
Estimated Total	\$ 22.374.00

Sterling Volleyball Co.

P O Box 120 Sunbury, OH 43074 US 740-972-1319 rebright@sterlingvolleyball.com



Estimate

ADDRESS

Ginger Murray Celina Junior High ISD TBD

Celina, TX 75009

SHIP TO

Ginger Murray Celina Junior High ISD 205 S. Colorado Celina, TX 75009

EXPIRATION DATE

09/01/2022

ESTIMATE#

1408

DATE 02/08/2022

SHIP VIA

FedEx

SALES REP

Rob Ebright

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
	E-SP	E Series pair of Volleyball Poles with Ratchet	3	2,199.00	6,597.00
	E-Net	E Series International Volleyball Net	3	375.00	1,125.00
	E-ANT	E Series pair of Volleyball Antennae	3	120.00	360.00
30	E-PP-O	Orange Volleyball Pole Pad	2	280.00	560.00
	E-CPP	Custom Pole Pads	4	380.00	1,520.00
	E-TOS	Official Stand: Attachable, Transportable, Foldable Official Stand	2	660.00	1,320.00
	E-TOSP-B	Official Stand: Attachable, Transportable, Foldable Official Stand- Black Padding	2	335.00	670.00
	E-FPS	E Series Brass Floorplate and Aluminum Sleeve	8	352.00	2,816.00
Price includes freight to school location.		SUBTOTAL			14,968.00
		TAX			0.00
		TOTAL	de tay tak dar das tu das das das das dat dar tar tar		\$14,968.00

Accepted By

Accepted Date



PO Box 841393 Dallas, TX 75284-1393 One: 800-527-7510 Fax: 800-899-0149 Visit us at www.bsnsports.com

ntact Your Rep

ne Conrady Email:dconrady@bsnsports.com | Phone:940-237-2000

ld to 24951 LINA HIGH SCHOOL 55 N Preston Rd LINA TX 75009-3896 Ship To 1603458 CELINA Athletic Complex Murray/Sharrock FIELD HOUSE 3455 N. Preston Road BLDG B Quote

Cart #: 8224778

Purchase Order #: QUOTE -- New Jr High Sta Cart Name: Celina Vball JH Gym 22 QU

Quote Date: 02/17/2022 Quote Valid-to: 03/17/2022 Payment Terms: NT30

Ship Via:

Ordered By: Murray/Sharrock

Payer 1087746 CELINA ISD ACCOUNTS PAYABLE 205 S COLORADO ST CELINA TX 75009-6441

CELINA TX 75009-6292			
1 Description	City	 Unit Price	 Total
n # - 1451592	3 EA	\$ 235.00	\$ 705.00
n # - 1371307	6 EA	\$ 43.00	\$ 258.00
:d/W hite/Blue/Gold-TF-VB3 Composite Volleyba n # - WCVB3	18 EA	\$ 38.00	\$ 684.00
18			
ANUAL MULTI SCOREBOARD 11 # - MSMLTSCR	2 EA	\$ 40.00	\$ 80.00
eluxe Linesman Flags n # - 1376640	4 SET	\$ 20.00	\$ 80.00
RGET CHALLENGER m # - 1274424	1 EA	\$ 375.00	\$ 375.00
olten Hammock Ball Cart - Black n # - NSPHG	2 EA	\$ 199.00	\$ 398.00
	Subtotal:		\$ 2,580.00
	Other:		\$0.00
	Freight:		\$139.32
	Sales Tax:		\$0.00
	Order Total:		\$ 2,719.32
	Payment/Credit Applied		\$0.00
	Order Total:		\$ 2,719.32



PO Box 841393
Dallas, TX 75284-1393
Phone: 800-527-7510 Fax: 800-899-0149
Visit us at www.bsnsports.com

Contact Your Rep

ohn Harrison Email:jharrison@bsnsports.com | Phone:214-714-3519 x3519

iold to |924951 |ELINA HIGH SCHOOL |455 N Preston Rd |ELINA TX 75009-3896 |JSA Ship To
1603458
CELINA Athletic Complex
Landon DeMasters
FIELD HOUSE
3455 N. Preston Road BLDG B
CELINA TX 75009-6292

Quote

Cart #: 8323153

Purchase Order #: New MS BBall Supplies
Cart Name: Celina new JR High BBall

Quote Date: 03/12/2022 Quote Valid-to: 03/31/2022 Payment Terms: NT30 Ship Via: ABF

Ordered By: Landon DeMasters

Payer 1087746 CELINA ISD ACCOUNTS PAYABLE 205 S COLORADO ST CELINA TX 75009-6441

CELINA 1X /5009-62	92				
am Description	Qty		Unit Price		Totai
WONSTER BALL LOCKER tem # - 1162622	4 EA	\$	499.99	\$	1,999.96
Scoring Table-Free Standing 8' tem # - 1237283	2 EA	\$	4,099.99	\$	8,199.98
Padded Possesion Indicator tem # - 1397719	2 EA	\$	549.99	\$	1,099.98
3SN Sports Electric Inflator tem # - MSECOELEY	2 EA	\$	89.99	\$	179.98
RUTE NYLON BASKETBALL NET - 288 GRAMS tem # - SNBBN288Y	12 EA	\$	4.99	\$	59.88
'The Edge" Digitally Printed Chair tem # - 1383871	48 EA	\$	139.99	\$	6,719.52
isher CHC100 Hanging Chair Cart tem # - 1399629	3 EA	\$	749.99	\$	2,249.97
	Subtotal:			\$2	20,509.27
	Other:				\$0.00
	Freight:			5	\$2,075.00
	Sales Tax:				\$0.00
	Order Total:			\$2	22,584.27
	Payment/Credit Applie	d:		Č	\$0.00
	Order Total:			\$2	22,584.27